2 (600) AtEsS 3t (610) Y4
Mg (611) A=Y = ! (02) 7483+ EAER THe| - )
3 5 quy (G2 42
2-g-M-= of 4 4 54
&t A 42,595,531 | 33,452,382 9,143,149
600 Afiol 14,399,818 | 14,501,334 ~101,516
610 Y+ 5,823,895| 5,710,900 112,995
611 AME8=42 5,673,895| 5,548,900 124,995
02 7Hd8otrTAitER 1,746,548 | 1,608,018 138,530
[E2]
o StrEAEE Y 10,8609 x 12,3397 x 127§¥ = 1,608,018
[2733}]
0 StrEAEESY
A (10,8609 x 13,4027 x 1274 ) - 71F (10,860 x 12,339%9;)15 138,530
06 YBtEstr=AER 3,723,168 | 3,630,954 92,214
[g2]
0 SIrEARESY 106,7309 x 2,835% x 127112 = 3,630,954
[ 22&32t]
0 SlrEARE RS Y
ZA (106,7309 x 2,907 x 12748 ) - 7| (106,730 x 2,835?7.‘_1'9;)15 92,214
08 UEEEstrZAIER 77,890 140,203| 262,313
[E2]
o StrEAEE Y 1,298,180% x 9% x 12742l = 140,203
[2E33}]
o StrEAEESY
B (1,298,180% x 53 x 12748 ) - 71 (1,298,1808 x 9% x 127He) 5 313
10 MAUZAESIT-ZAIER 50,684 56,316 A5,632
[g2]
0 AR 24Y 234,650 x 207 x 1270¥ = 56,316
[2F33}]
0 StrEAEESY
HY (234,6509 x 182 x 1270" ) - 7|14 (234,650 x 204 x 12742) = 25,632
12 J|EtsteEAE R 75,605 113,409| 237,804
[E2]
0 SITEAEESY 350,0309 x 274 x 1270€ = 113,409
[2F33}]
0 StEEAEE LY
23 (350,0309 x 18 x 1270 ) - 7|3 (350,0309 x 278 x 1271&) = 237,804




3
Mzt s ool 18l
o - quy (G2 42
B3 AT S ol qay | 23
661 7|EfE Y+ 150,000 162,000 A 12,000
03 7JErrEsY 150,000 162,000 212,000
[g2]
o 2|AlE | 12,500,000 x 12¢ = 150,000
670 Fgelsa 8,575,923 | 8,790,434 A214,511
671 O|z}=< 70,000 70,000 0
01 oz0l2te¢Y 70,000 70,000 0
[E2]
0 0= 0|2 & =¥ 70,000,000 = 70,000
672 ERAMYZ+Y 8,457,048 | 8,706,814 A249,766
02 EISgAMYUS 5,344,041 5,431,600 A87,559
(2]
O +2INHELSA M= 5,344,041
o BHEY|ZA|H 2FH| 5,123,783,000= 5,123,783
o SHE7|ZAIE 7|=2ICH 220,258,000 = 220,258
03 YEEARHZ 3,113,007 | 3,275,214 ~162,207
[2Z12t]
O Yuts|A H= 3,113,007
020219 = styA eV |5 g7 Zeda(@E7|=2A14 23], 29)
9,000,000 = 9,000
0 S&otr{elAlE 7[s2E 62,946,000 = 62,946
o BHE7| =AY 2e2|TH QIZH(ErS 2,991,061,000= 2,991,061
oot FYt 47|12 g 50,000,000 = 50,000
679 7|EIE Y|4 48,875 13,620 35,255
01 7ZIEIUti+=¢ 1,998 1,800 198
(2]
o IRAMLAER 1,800,000 = 1,800
[ &3]
0 SRALALERZ 24 (1,998,140) - 718 (1,800,000) = 198
04 HHFLUAAdFTTY 2,200 1,820 380
[E2]
o Bz ¢ 2,200,000 = 2,200
09 7IEfEYR+Y 44,677 10,000 34,677
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(100) At=44+4 & (170) A2Yoizy
(7)) AldEEesY = (01) AEREETY (Eh2| : ¥)
} = of by | dEE 4 u
#-8-HME-5 L Cll
28,195,713 | 18,951,048 | 9,244,665
+ 22,960,540 17,953,358 | 5,007,182
a5y 0| 1,000,000 41,000,000
=Y 0| 1,000,000 21,000,000
HRIREEHZ 1,000,000,000 = 1,000,000
0 355tsE SRR EF 44 (0)-714 (1,000,000,000) = A1,000,000
173 ERAHEEZSSY 19,594,540 | 16,953,358 2,641,182
AL 7,634,000 9,843,000 ( A2,209,000
O=1EZSTY 7,208,600

658,000,000 = 658,000

122,000,000 = 122,000

e SN EE=EINEIED)
100,000,000 = 100,000

| 2H2)3BBBSH2IAE SHAY QA
100,000,000 = 100,000

100,000,000 = 100,000

300,000,000 = 300,000

f 83)2 Lot ESSotraie|Ald SEAIE(2)

150,000,000= 150,000
H)S®, dok 22 FB|AY 1,516,000,000 = 1,516,000
HI)EH, do st 2 FBIANY 1,703,000,000 = 1,703,000
H) 32| AR ot 2 FHIAY 1,044,000,000 = 1,044,000
H) 2™ StptE ZH|AF (2CHA) 965,600,000 = 965,600
H)7FES Stetz FHIAY 128,000,000= 128,000
H)) ¥ BH o522 HH|ALY 122,000,000= 122,000
B)ZZH 25tz HHAY 200,000,000= 200,000




2 (100) 2224 g (170) AH2doigsY
B : (173) EtS|AIR R 2249 2 : (01) FnE2I4Y trol : 1))
o - quy (G2 42
-5 MB2 = off A o4 4
O =Z0HZFZLY 1,716,400
0 (Z01& OISdtek GH) S5 22330t 2| Ald HAAKY
840,000,000 = 840,000
o (GtrLZYH|)SH Stz YA (2EHA)
44 (1,842,000,000) - 7|4 (965,600,000) = 876,400
[#d24}]
O =122+ 17,000
o (cteHe|Y &3)de|SSdteAe|Ad SEARK (12
44 (524,000,000) - 7|4 (122,000,000) = 402,000
0 (80| DISote PH|) S5 &2 335t 2|Ald H2|AMY
24 (0)- 7|4 (840,000,000) = ~A840,000
o (G222 YH)) ¥, 4 otttz YHAY
Z3d (500,000,000) - 718 (1,703,000,000) = 21,203,000
o (S22 YH|) 32| Aw Stttz HHIAY
34 (3,044,000,000) - 7|4 (1,044,000,000) = 2,000,000
o (S22 YH|) =T Stet2 HHIAFY (2THA)
434 (500,000,000) - 7|8 (1,842,000,000) =A1,342,000
o (Gt YH))SH, 24T 4 =252 = YH|AIY
1,000,000,000 = 1,000,000
[#2d3]
O =122+ 21,308,000
o (ot &3 MRSt Ad SEARK (12
44 (0)-7/4 (100,000,000) = 2100,000
0 (80| DIS5te = HH|)29 4T Sheat= HHALY
44 (0)-7/4 (658,000,000) = 2658,000
o (et &3)d PSSt AL S2AH (22
24 (0)-7]4 (100,000,000) = A100,000
o (Gt &F)dASSdteA| AL SSAK (12
Z4d (0)-74 (100,000,000) = ~A100,000
o (Gt &Z)UASS3teA2| A SEAK (22
434 (0)-7/4 (300,000,000) = A300,000
o (Bt &F)2PAt RISt A E SEAH (12
44 (100,000,000) - 7|4 (150,000,000) = A50,000
02 ERAHEEZIZSY 11,770,740 | 6,585,100 5,185,640
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2 (100) AHEAHSY g (170) AH2doigsY
Mg @ (173) Ets|AHEE R = 1 (02) ERAHEEZRESY Tl 1 M)
o - quy (G2 42
-5 MB2 = off A o4 4
o (BteA2|E &3) 2| SS3steHe Al dS AR (12
44 (134,100,000) - 7|4 (31,000,000) = 103,100
o (St 24H|) 32| A3 ottt 2 FHIAY
474 (962,000,000) - 7|4 (234,000,000) = 728,000
o (ot ZYH|) ST UM A4H 25t 2 FHIAY
24 (961,000,000) - 7|d (800,000,000) = 161,000
O stdaA 27 |S(EENHMEEIA) de= ~514,000
0 (50{2 OS5tk FH|) 84 A2 3 3ot 2[A|d 2 ALY
44 (714,000,000) - 7|4 (1,228,000,000) = A514,000
[Z3F32}]
O stdA 27 |S(FEWHMEEIA) HY= N42,889
0 BtE7|=A|4 Ol
44 (1,951,898,000) - 7|4 (1,994,787,000) = 242,889
O YA HF N12,327
o BHA7|z=AlH CheM
24 (630,986,000) - 7|8 (643,313,000) = 212,327
03 AlZHEZRZSY 189,800 525,258 AN 335,458
(2]
O ANEHBEZRZ42 401,900
0 (50{2 DIS3t-k FH|)29f, T stet2 FHAY
112,800,000 = 112,800
o (Bt 2|E &3)dle|Sa3steHe|Ald SHARL (12 21,000,000 = 21,000
o (Bt 2|d &) MraSstee|Ald SHARL(12D 17,200,000 = 17,200
o (st 2|d &2) Y 3SsteHe|Ald SHARI (23 17,200,000 = 17,200
o (Bt 2|d &3)deta3steHe|Ald SHARI(12h) 17,200,000 = 17,200
o (ot e|d &E ) - SSotr2{e|Ald SHAR (23
100,000,000 = 100,000
o (otrAE|d &F)T A2 STt e AL SHAF(O R
50,000,000 = 50,000
o (Str2YH)ZZH 25tz FH|AY 66,500,000 = 66,500
[Z2F14}F]
O A|EH|EZ 240 144,000
0 (50{2 OS5t FH|) 84 A2 33 ote2{2[Ald 2| AtY
144,000,000 = 144,000




2 0 (100) AH2AeY g (170) 220z
Mgt (173) ElRIAHEEZ2 34+ = (03) A=HEZSSY THe| - )
n 2
RN wee | §ia | 23
[2723}]
O AEHEZR24Q 75,100
o (Btex{2|d &&)se|3dotex{2|Ald SHARI(14)
Z3A (89,900,000) - 7| (21,000,000) = 68,900
0 (501Z OISdtek GH) 84 A3 3oteH2|A|d d2|AIY
ZH (0)- 713 (144,000,000) = ~144,000
[22&32t]
OPNL=LLES=sat] ~281,000
0 (5012 OtSdteE EH)) R, o8t ot 2 HH|ALY
A4 (0)-71% (112,800,000) = A112,800
o (BtrA2ld HE)MUFS3stex2lAlE S (12
#d (0)-7|14 (17,200,000) = 217,200
o (Bte{2|d &2)H Y3 3otrx2|Ald SHARI(24)
A4 (0)-714 (17,200,000) = 217,200
o (strA2ld gE)UotE3stax2lAld SHArd (12
24 (0)-714 (17,200,000) =  A17,200
o (BtrA2ld gE)MUS3sIeH2AlE SHAr (22
Z3A (0)-7I1% (100,000,000) = A100,000
o (Bt 2|E &2) YL L S-St Al d SEAIA (1))
#3d (33,400,000) - 714 (50,000,000) =  A16,600
177 QIR EHZ LY 3,366,000 0| 3,366,000
01 Qolzteea 3,366,000 0| 3,366,000
[ZZ12t]
0 33T ARIARLF 1,000,000,000 = 1,000,000
[2F33}]
o 3ot HUAXNREES
A4 (3,366,000,000) - 7| (1,000,000,000) = 2,366,000
180 REZ 5,235,173 997,690 | 4,237,483
181 &MAYAZ 5,235,173 997,690 | 4,237,483
01 &MAYoZ 5,235,173 997,690 | 4,237,483
[g2]
O &MAYolZ 4,258,225,000 = 4,258,225
[2723}]
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